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SENA 1,100, 000 1,096, 900 3,100
BRI 0 0
BRI 200, 000 193, 238 6,762
EEEE IR 16,038, 000 16,014, 897 23,103
SHEBUA 0 0
EBRIRA 200, 000 0 200, 000
BEITA 0 0
BIREIRA 0 0

IR [(RREE BRI 0 0

A (B 0 0
REBZEIA 0 0

B ZEBREINA 0 0
EARFISHENBIRA 0 0
EEREBHBIA 0 0

i SERFIERLRINA 5,000 1,001 3,909
=| |eotoma 1,000 3,300 -2, 300
8| |REEETES S A ERENE 0 0
| [EmEmmAs (D 17, 544, 000 17,300, 426 234,574
S K prmee 12,910, 000 12, 345, 725 564, 275
E BT 1,594, 000 1,228, 697 365, 303
o| |EmEmw 2,239,000 1,777,063 461,937
BT 200, 000 40,000 160, 000
HENSRHRBRE 1,553, 000 1,420, 397 132, 603
EREEEE R 0 0
SEEEH 0 0

% |BAasas 0 0

& (B 0 0
EAEE T 0 0
HEEH 0 0
e 0 0
SHFIBZH 0 0
ot 10, 000 0 10, 000
REEE RSB AR 0 0
BEEBTIE (2) 18,506, 000 16,811, 882 1,694, 118
BEFPESNEES (3) = (1) — (2) 962, 000 497, 544 1, 459, 544
R HEHENRIRA 2, 164, 000 2, 164, 000 0
MRS S BIRA 0 0

5 | IR |SRERAEARIRA 0 0
o | A |EEEEFSHIRA 0 0
B| |20t EmEIc L3I 0 0
& remsmmnact (4) 2,164,000 2,164, 000 0
MEEC T T 0 0
+| |EEaEmEss 4,900, 000 4,802, 100 97,900
3 | @ |EEaEn - RES 0 0
W |t [ TpqF> 2 - U2 ETEOEE 0 0
2| eotommmscsy 0 0
MRS R (5) 4,900, 000 4,802, 100 97,900
IEREREERINEEE (6) = (4) — (5) ~2, 736, 000 2,638, 100 97,900
EIEEESEARTLEETHEINA 0 0
ENFERESEARIRA 0 0
BESEREASIRA 0 0
EHFE R EURIRA 0 0
JEEMEESEIRA 0 0

f FETTERERRIRA 3, 680, 000 3,000, 000 680, 000
EERESIEIEARINA 0 0

2| |eEEEeetEMEASEIRA 0 0
fé EERESSIHRARIIA 0 0
0| [EotoEBCLBRA 0 0
| |zomoEsRAs (7) 3, 680, 000 3,000, 000 680, 000
o |emEzasmiscomETY 0 0
C| |rasEmEASTemEsS 0 0
2 EMEESH 0 0
5| |[rEemDsmEss 0 0
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BERIE FHE(A) SRE(B) E=R(A)-(B) wZ

53 HeBuaEx 0 0
i B EERE 204, 000 194,182 9,818
EEBUESRTRIEASIRESZ 0 0
EEEIESARTRPSMEXH 0 0
EEBUESRITBASSH 0 0
ZOMDESCLBZE 14, 000 13,570 430
ZOftoEENZ AT (8) 218, 000 207,752 10, 248
TOMOESERUNZEEE (9) = (7) - (8) 3,462, 000 2,792,248 669, 752
FHEZE (10) 300, 000 300, 000
LEERUTZRRESET (11) = (3) + (6) + (9) — (10) -536, 000 651, 692 -1,187, 692
BIERX I ERES (12) 536, 000 848, 586 -312, 586
LERXERES (11) + (12) 0 1,500, 278 -1, 500, 278




